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L@$ - 1/ PART - 1

15x1=15

Qunpaatin-Gaer wrpgy dlarsula Baeand gpuem_w oL eud
Canpnyipi i G el idmaniv Gaijgy erppasd

Answer all the questions,

Chaoose the mosy Appraprinte answer from the given four alternatives
and wiite the aption code snd the Corresponding ungwer.
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1. 2 MUY Send L@~‘“fi-(t")(|;“ﬂ'ﬂF"’(-") ARIBIIETY @) (g D\ EDIFH PG LYLD.

(<) Secured 2 MILILSET (<21 Public o |

(@) Private P MUILSE (rr) Protected o m'iyser
«sible from outside the class.

members arc acce
Public members

(a)  Secured members (b
(¢) Private members (d) Protected members

2.  Qeaaumaa@andd g @USHTE ApLiué Dend femwimg ?

(<) continue (<) break (@) operator (/r) while
Which of the following is not a keyword in Python ?
(a) continue (b) break ﬁ operator (d) while

3. 9® @,@QLCHL'_L_ Qawened Qsweusnansd LuaTuBFsUUBL GhHapanulle Sl

uEs

(<) Pseudo @Mpen (<) Simemr Hlycoasar

(@) QsnEdlse () Camluyser

The small sections of code that are used to perform a particular task is called :
(a) Pseudo code _/@ Subroutines

(c) Modules (d) Files

4. ouggrafle apsslwinmen SU_HUUMLH S@wiyselen aamaisans -

(1) 5 ()3 (&) 6 (FF) 4
The number of important control structures in Python :
(a) 5 b 3 (c) 6 (d) 4
5. Qans@(p emuLsen Qewm@dluler apeid SigsLLRENS.
(i) # (%) & (@) % (F)
Class members are accessed through operator.
(a) # (b) & ) % _Ady
6. QupCom Gpos e-payflevmus GHudGD sreasser wrd :
(@) LgfHleve () e-peyfioe
(@) G@un@er (/) Guap@WEHOLIL
The database Model which represents the Parent-Child relationship :
)a)/ Hierarchical (b) Relational

(cj Object (d) Network



10.

11.

3

FSBIGHE G Lenewras, 6T iH% @gmﬂ)@lﬂ L|u|hle.l(h‘lEﬂﬂJ;f;J ”
() * (%) + @) - () &

The operator which is used for concatenation ?

(a) * 9)} + (c) = (d &

@ugstan flrefler C++ Hyome smelése  aa SIn&aILHE DS
() Qevamgge (<) e-on GhHse

(@) Gfgge () uflelnéan Qe

Importing C++ program in a Python program is called

(a) Interconnecting )b‘l/ Wrapping

(c) Parsing (d) Downloading

6672

_ sl Levar graysasHlBhia G S Laumaraw B5s0 LuaULGHDS.

(<) DELETE ALL (<24,) DROP TABLE

(@) ALTER TABLE (FF) DELETE

_ command i1s used to remove a table from the database.
(a) DELETE ALL /Ib)  DROP TABLE

(c) ALTER TABLE (d) DELETE

cTBg CewHany GCaibsGésuul L yasdar Quiiu wdimus Hmud Sigyiib :

(<54) HIGH () (<) MAX() (@) MAXIMUM() (=) LARGE()
The function that returns the largest value of the selected column is :
(a) HIGH () by MAX() (c) MAXIMUM() (d) LARGE()

o (Heuanloliy SPWLLLL. 76y eums _____ oTen Sianp&suuBéng.

(<) Concrete datatype (<) Built-in datatype
(@) Abstract datatype () Derived datatype
The datatype whose representation is known are called :
(@}~ Concrete datatype (b) Built-in datatype
(c) Abstract datatype (d) Derived datatype

[ Smuys / Turn over
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12,

13.

14.

15.

SMGHTGen o)) 5@ S T6EmHD Qawmanm
(31) eombim (c3p) 2-6eflanem b
(@) return samppy () S0&WHA
A Function which calls itsclf, is called as :
(a) Lambda (b) Built-in
(c) Return statement /Ld‘[ Recursion
2 (HauluLb dag Quighae Geriy Gurdm 2@ Bwwrs Camlsanen
EN&WITEN LweuBid (penm
(1) s () ey (@) osv () Boofan
The mode which is used when dealing with non-text files like image or exe files :
(a) xls mode (b) Text mode (c) csv mode /Ld')’ Binary mode
Quiig Ararsssde, gnsaCe smsdp Qswg wHuysmea GsllsEw &S
el HP&EEIL(HID.
(<31) Hlenemedl(hsHev (=) wHlenu GCellsEn LTy
(@) ucbl e () wdiewu GsaflsEd LTy
In dynamic programming, the technique of storing the previously calculated values
is called :
/(a] Memoization (b) Saving value property
(c) Mapping (d) Storing value property
set A={3, 6, 9}, set B={l1, 3, 9} arafley,
Gemeuhd Hlyellen Qeuaflu3® Print (set A|set B) :
(1) 1L (%)3,6,9,1,3,9
(@) 1,3.6,9 (7) {3,9)

Let set A={3, 6, 9}, set B={1, 3, 9.

The result of the following snippet Print (set A|set B)
(a) ({1} b) 13,6,9, 1,3,9
(c) {1,3,6,9 (d 3,9

e
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U@&$ - I / PART - II

@MY : amaCugh D Slamasenie et walldaabd cilan dan 24 -4g
sULmwwrs aorwalidsan 6x2=12

Note : Answer any six questions Question No. 24 is compulsory.
16. Tuple aa@nrd Q& ? THSHSHTL(H H(H&

What 1s a Tuple ? Give an example. _-

17. aa@rdudee aapre e ?

What 1s & scope ? p

18. augstalle srsms eraaumy SaéGauml ?

How will vou delete a string in Python ?

19. range() Jewhsmn @iluy ewaers.
Write note on range () in loop. —

20. Q@EF(P TIDNQL GTEeN ?

What 1s class ? /

21. srey eswnE@hged Qwmfl eremmme eTeres ?
What is Data Manipulation Language ?

22. Gamuer Qarunflave weanawsaeas GHUEAGS.
Mention the default modes of the File.

23. ey SN ALLPSSS® aasawl Ll Rud(s.
List the general types of data visualization.

24. YGaeumb eugsnet Ghupenwer Qeueflli® wrg ?
Squares = [x**2 for x in range(l,11)]
print (squares)
What will be output of the following Python code ? e
Squares =[x**2 for x in range(l,11)]

print (squares) [ #ouys / Turn over
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L@ - m / PART - 11
@!'-S]UL{ : GJ’GQ@]LQ S0 G161 1185 (T (8 aflentUl lf’“ﬂéﬁ‘ﬂllh. eflemm eremr 33 -é@ SLL_NWLD
eflent wiefaaa)b. 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.

25, L@ms_@agﬁ@w LIGLS S pIseaTs @gj]ulﬂ@&.

. Do oy
Mention the characteristics of Interface.

26. L@‘-U'ﬂ'@ Lﬁnamé&g,gmgu umml ﬁa‘j]r'r o Hleue wimeney ?
What do vou understand by Dynamic Programming ?

27. wuw dsupghleow aRsgssm_[HLa TWHES.

Explain Ternary operator with an example. —

28. while wLgfan GungeugeusHeanan er(PHis.
Write the syntax of while loop.

29. ceil() whm floor() Qewh smpsamer CaumLGs5:s.
Differentiate - ceil () and floor () function. -

30. csv reader () wHmD Dict Reader () aflpansenss Gl Cuwran Caumur®
wng ?
What is the difference between csv reader () method and DictReader() class ?

31. fetchone () wmHmw fetchmany () Caupu@sss.
Differentiate fetchone() and fetchmany ().

32. Gar(PssLulL agausns HFAHD ougsTean Hree epgs.
Write a Python program to display the given pattern.
COMPUTER
COMPUTE
COMPUT
COMPU
COMP
COM
CO

C
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33. umley SLEUUIL® sppsamear Qanar. Ctt flrdamer Guib@mb @ussna
Hrosafiar Ly Hewsmar apgs.

Write about the steps of Python program executing C++ program using control

statement,

U@ - IV / PART - IV
GOy : Siengg elanisensEn o uafésayd. 5x5=25
Note : Answer All the questions.
34, () List crempred arénen ? List, e pairs creny SevRssuusing ? aHss-
sr_(hren efleufgseyb.
3|06V G
() auflesapern Coe aperw efleurféseb.

(a) What is a List ? Why List, can be called as pairs ? Explain with suitable
example.

OR
(b) Discuss about linear search algorithm. .~

35. (=) emuggnafler 2 erer eflvanavser LPB) erpsis. .
EYLATAT

() Gemeumd 2 eraflanamths QFwn smmamer eflenéEs.
(i) 1d()
(i) chr()
(i1i) round()
(iv) type()
(v) pow()

(a) Discuss in details about Token in Python. +

OR

(b) Explain the following built-in function.
(1) id()

(i1} chr()
(iii} round()
(iv) type()
(v) pow()

[ §piuus [ Turn Over
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36. { vt Severana Tuple aatmrd erena S (BB (Wit "*fﬂ"""“'l'”_)”'

VOB
<) e Pevaldan aiamsaman ailaiflaHaQD
1@} What is Nested Tuple 7 Explan with an example, -

OR

(b} Explain the different types of relationship mapping,

37 @) getopt() arénp Qewipenflen Apmflueme erps), Bigen 6ls W mHUsmanD,
SUSug Ly LHLYS®ETYL 61‘31611&@3,_
S(6V60F
(<) DBMS wpmw RDBMS Caupu®s5s.
(@)l Write the syntax for getopt() and explain its arguments and return valyes.
OR

(b} Differentiate DBMS and RDBMS.

38, (=) fl@wCLrdlmd wpmB U@L WEIULkIEEEE G Curar Casgur®-

sar ellens s,
{060
() continue spiiear a@sgssT HLdn eleréss.
(a) Explain about differences between Histogram and Bar Graph.

OR
(b) Explain ‘continue’ statement with an example.



